
 

 

                                                        10th- (Mathematics)               

                              WEEKLY REVISION ASSIGNMENT-14 

1. The distance of the point (a,b) from the origin is : 

      ਬ ਿੰ ਦੂ (a,b)  ਦੀ ਮੂਲ ਬ ਿੰ ਦੂ ਤੋਂ ਦੂਰੀ ਦੱਸ ੋl 

      (a) a+b      (b) a2 + b2   (c) a-b      (d)  √ a2 + b2 

2. The distance of the point (2,3) from the x-axis is : 

    (a) 2 units              (b) 3 units           (c) 1 unit                    (d) 5 units 

     ਬ ਿੰ ਦੂ (2,3) ਦੀ  x-  ਧੁਰੇ ਤੋਂ ਦੂਰੀ ਦੱਸ ੋ। 

     (a) 2 ਇਕਾਈਆਂ    (b) 3ਇਕਾਈਆਂ    (c) 1 ਇਕਾਈਆਂ          (d) 5 ਇਕਾਈਆਂ 

3.  The points (1,1) , (-2,7) and (3,-3) are : 

      (a) vertices of an equilateral triangle( ਸਮਭੁਜੀ ਬਤਿਭੁਜ ਦੇ ਬਿਖਰ ) 

      (b) Collinear (ਸਮਰੇਖੀ)  

      (c) Vertices of an isosceles(ਸਮਦੋਭੁਜੀ ਬਤਿਭੁਜ ਦੇ ਬਿਖਰ) 

     (d) None of these(ਇਹਨਾਂ ਚੋਂ ਕੋਈ ਨਹੀਂ) 

4.  The value of y, if the distance between the points (2,y) and (-4,3) is 10 is : 

      y ਦਾ ਮੁੱਲ ਦੱਸੋ, ਜਦੋਂ ਬ ਿੰ ਦੂਆਂ (2,y) ਅਤੇ (-4,3) ਦੇ ਬਿਚਕਾਰ ਦੂਰੀ  10 ਇਕਾਈਆਂ ਹੋਿੇ । 

      (a) 6                  (b) -11                    (c) 5                (d)11 

5.   The coordinate of point A ,where AB is the diameter of a circle whose centre is (3,-4)  

       and B(1,4) is : 

    AB ਇੱਕ ਚੱਕਰ ਦਾ ਬਿਆਸ ਹੈ । ਜੇਕਰ ਚੱਕਰ ਦੇ ਕੇਂਦਰ ਦੇ ਬਨਰਦੇਿ ਅਿੰ ਕ (3,-4) ਅਤੇ  B(1,4)  ਹੋਿੇ ਤਾਂ 

     A   ਦੇ ਬਨਰਦੇਿ ਅਿੰ ਕ ਦੱਸ ੋ। 

(a)  (2,0)             (b)  (12,-5)          (c)  (5,-12)          (d) None of these(ਇਹਨਾਂ ਚੋਂ ਕੋਈ ਨਹੀਂ ) 
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6.ਜੇਕਰ  Sin A + Sin2 A = 1  ਤਾਂ Cos2A + Cos4A ਦਾ ਮ ੁੱਲ ਕੀ ਹੋਵੇਗਾ ? 

       If   Sin A + Sin2 A = 1  then what is the value of the expression  Cos2A + Cos4A  =1 

        (a) 0             (b) 1                  (c) 2               (d)  9 

 

7.  ਜੇਕਰ  7 Sin2 A + 3 Cos2A = 4  ਤਾਂ  tan A =………..   

   If   7 Sin2 A + 3 Cos2A = 4  then  tan A =……..  

    (a) 
𝟏

𝟐
             (b)  

𝟏

𝟑
                 (c) 

𝟏

√𝟐
             (d) 

𝟏

√𝟑
              

8.  ਜੇਕਰ  2 Sin 𝜃 =√3  ਤਾਂ  𝜃 = …………….. 

    If  2 Sin 𝜃 =√3  then  𝜃 = …………….. 

    (a) 300            (b) 600              (c) 450           (d)  900 

9.   Cot2𝜽 - 𝟏

𝑆𝑖𝑛2 𝜃
    ਦਾ ਮ ੁੱਲ ਦੁੱ ਸੋ l  

     Find the value of    Cot2𝜽 - 𝟏

𝑺𝒊𝒏𝟐 𝜽
     

    (a) 0              (b) -1                (c) 2               (d) -8 

10.  ਜੇਕਰ x = 2 Sin2 𝜃  , y = 2 Cos2𝜃 + 1 ਤਾਂ   x + y  ਦਾ ਮ ੁੱਲ ਕੀ ਹੋਵੇਗਾ ?    

   If x = 2 Sin2 𝜃  , y = 2 Cos2𝜃 + 1  then what is the value of x + y  ? 

      (a) 1                 (b) 2                  (c) 3               (d) 12 
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